
 
 

Remember the pie needs to be divided 
so each child gets their fair share. Each 
piece must be EQUAL. 

You could use circles of paper to mimic the 
pies and have a go at folding/shading or 
cutting to try and work the problem out. 

  

4/3 has a numerator that is larger than the 
denominator. What would that look like as a drawing? 
Look below. 



 

Remember the DENOMINATOR tells 
us how many EQUAL parts a whole 
has been divided into. If one whole is 
divided into 3 part, and there are 4 
parts for each child, it means you 
have to draw one whole one and one 
third.  
3/3 (or 1) +1/3= 4/3 

Using physical objects will help 
here -dried beans, buttons etc. 
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